This document was created by Unregistered Version of Word to PDF Converter

Unit 99
Comnpfete these septences using with one of the Foffouing words:
7 Bhe can't get married yet. She's not  ~lo creoon,.
Z Tom would like to buy a car but he hasn'tgot
7 1 couldn't mnade coffee for evervbody.
rhere wexen’t o
4 Are you ? Or zhall I switch on the heating?
5 It's only a =mall car. There isp*'t for all of
vou .
& George didn*t feel to go to work this mnorning.
7 I didn't finish the examnination. I didn't have
g Do you think I‘'ve got to apply for the job?
? Iry this jacket on and see if it’'s for wou.
Arswer these questions vsing the words in brackeds.
fxampfe: ‘Iz she getting married?’ (me? ofd encugh)
Mo, she isn’t old encugh o get monnied. ™
I "Mhy can't vou talk to me now?" (oo dusy)
"""« tpo noM . "
Z "Let’s go to the cinema."™ (#ov fats)
"o, it's cinemna."”
Z "Hhy don't we =it in the garden?" (ao# wars srcugh)
“t*'s pot *
2 ‘Hould vou like to be a politician?’ (#oo #ice)
“HD . I 1 n_____ L1}
S ‘Are you going on holiday this wvear?’ (#nod encuglh moneg)
*MNo. I haven't got *
& "Shall we take a photograph?’ (#og dark)
‘o, !
7 'Did you hear what he waz sayving?' (?oo Far auay)
‘Ho, ue *

& 'Can he make himzelf understood ( 77 £refisk)?’ (oot encugh frgf fsh)
“"Mo, he doe=n’t speak "

2 'Does Harry work?’ (#ow fazg) T
"o, be’s "
fn this exercise youv have 1o nake one sentence (vsing or 2

From the fwo senfences given.
fxampfe: e couldn't eat the food.It waz too hot.

I I can’'t drink thizs coffee. It's too hot.
This coffee is

Z Mobody could move the piano. It was too heawy.

we piare
Z I can’t wear this coat in winter. It's not warm enough.

This coat

4

5

Don't stand on that chair. It’s not strong enough.
That chair

Tuo people can’t sleep in this bed. I1’s not wide enough for two
people.
Thiz bed

£ 'Hould wou like to be a politician?’ (#oo #ice)
"Mo. I'm "



